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Algebric laws of multiplication of
matrices |

Associative:-law : If A and B are conformal for the product
AB and B and C are conformal for the product BC, then
(A&}fi =A(BC),
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Thus (AB)C = A(BC). i i

KVe miay write (AB)C = A(BO)= ABC



letA=[a;], B= (b1, C = [Cij]-

conformal for the product A(B + C).

LX) Distributive law : If Aand B are -corzformal for the product
AB, B and C are conformal for addition, then AB+C)=AB + AC
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Proof: Let A, B, C be the m x n,n x pand n x p matrices and

Since B and C are conformal,
B+C= [b,]] e [Cij] = [bl] o Cij]‘

Now, B+ C is a n x p matrix. Therefore A and B + C are
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Therefore from (1) and (2), we have A(B + C)= AB + AC.
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C)D =BD + CD,whenDis a P x g matrix (say)



